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QUESTION 1

How does the PureData System for Analytics utilize the distribution key to store records on disk?

A. System assigns records to a FPGA based on their distribution key value.

B. System assigns records to the host based on their distribution key value.

C. System assigns records to a logical data slice based on their distribution key value.

D. System assigns records to a Netezza Database Accelerator based on their distribution key value.

Correct Answer: C

QUESTION 2

Short Query Bias (SQB) allows for reserved resources to be used for which type of query?
A. Queries with no joins.

B. Queries returning only one row in the result set.

C. SQL statements less than 255 characters in length.

D. Queries with a runtime estimation of less than 2 seconds.

Correct Answer: D

QUESTION 3

Which statement about the GROOM TABLE feature is true?

A. GROOM TABLE requires space to make a complete copy of the table.

B. GROOM TABLE only operates on tables that include an ORGANIZE ON clause.

C. GROOM TABLE prevents nzload from adding data while groom is in progress.

D. GROOM TABLE allows UPDATE, DELETE, and INSERT operations to occur while groom is in progress.

Correct Answer: D

QUESTION 4
Which statement is true for database users and groups?
A. All users must belong to admin group.

B. Creation of users and groups is not allowed.
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C. Users and groups are local and tied to a particular database.
D. Users and groups are global and not tied to a particular database.

Correct Answer: D

QUESTION 5

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to
TableB? (Choose two.)

A. The views on TableA.

B. The privileges on TableA.

C. The distribution key of TableB.

D. The materialized views on TableB.

E. The order of the data stored in TableB.

Correct Answer: CE
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